AR B R, P 2K SR FRE

HEB T 5 FL3m, o Bp ELpk PES SR CED I e ;
2R BB NI 54 46 180 4k 0 RS [B24]

1%%%%5:%%(ﬁm\wm\%ﬁ%

2. Fe R (B~ 12) w984
HEBAZ bfé)’tﬂ,ﬁ = (% 4’4&7J<%) &) 41
m%&ﬁ(%~ ) B8 E
e e TR EE LR S L RILE R -
48,4 AR K $-J-B1 & A 240 45 5%, U0 K R B LR,
. 1 9RE R #) 3 . s ’

woks | S PINE S SRR

% 11V seEABELE - & E-AV-1 #5588~ ~ R

A~ RO EEeRRAL, il ~ Sh77 ~ Bp gL éﬁﬁ’ﬁé‘?}%«)‘”‘ jc%i’téfc
LR EP | BRSAENBEFHTER . | SERE | F-

& 1-V-2 se A FEH X~ X % E-IV-2 BBt o) 1E 5 fa e s

A FRZI LA % - FE ~ BB SRS ELAIE -

HEEEH
HLZEEHNERE T A B il FE
[~ oA Rk ]
1 A AR E) B2 BR3R

1480 B L ERREN SR ELMHE ? BB TE?) TR BPEAEA
2R E$EIG% A hitps://www.youtube.com/watch?v=SNCQsu5uXbo&t=110s ° 10 4% fru 53~ YL~ 48 fa 4y
IRM > HEBRTRAEAERIRB=E (B~ 2R ~%A) ? 2REREIREH
CXREFEGE (BRE - SK TR~ gEF) ? koo
= BEREH:

1. 8083
1EHEY BT EEBREL P - 2 FE AR E) A 6T SR
(1)7-F % 4 & 69 5 X, (F5 /4212 94 4) RARR o

(2) -7 b i 36 3% (2 BI/KRF ~ o~ B8 4L) AT T L
(3)#2 K L% ~ %Mhhhﬁuﬂﬁi #1t) 05 ik F3AFE EAL
2ELRARGZE B3 HEA R (excBF) i o
(1)55 5 1212 88 4
(mzm%@~ﬂﬁ
(3) /1 & /4=
KNI &> k.ﬂfh%%ﬁﬂ’%ﬁ AE AN EA)
= moEwH
1.8 23 -
138068 — % > s RTR! 2.8 % 4 R AR A
(1)FI B £ R b6 8B4k > pw E 2RI (KT~ Fk)e e FREI S E D] o
10 742 N
()”%ﬁo o e
(3)=
~ AEEHER ~







